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#1:9 &

$(94.38) #2: 3 IR EEIE (9. 17) #3: 2 2 2%51m(71.83)

NS: Bt &SRB EO) -14 12 NS: BS EZH(BC) -13 9.23 : 10.77| Total VP: 42.94 Rank:
EW: & 2522 EA0) 13 EW: [Ri8Z BE<F(F0) 14 IMP:{ 13 : 15 14
. I
# 11 » K98 4HS6 480 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HE5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 430  3NN6 490 20 2 vdJ 4HWS5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 30 NS:2 4HS5 450 10 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 1 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
*eveN QT ®IVeN o6
N ~ 5 ~5 ¢ AJT974 N 2~~~~ ¢952
S ~ 5~5 ¢ KJ9 S 2~~~ ~ 4 J965
E ~ ~~~ &9 E ~~534 aJ6532
W ~ ~~~ W ~~535
#13 » 3NN3 600 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 6HE6 -980 Mean: 6DW-5 250 120 1
v Q9872 4SS5650 510 3NS5 660 4.0 1 o 5HW6 -480 -450  6HE-1 50 110 1
« KJ954 Dif: -50 NS:3  4NN4 630 3.0 1 o K74 Dif: -500 NS:-11 5HES5 450 0.0 2
» A43 IMP: -2 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: -11 EW:1 4HE5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQTT72 —I— + 863 6HN-3 300 -13.0 1 ||e AQJ962 S 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 110 Mean: 1NN3 150 20 3 ||# 16 s K5 1NS1 90 Mean: 3NS4 430 6.0 2
v KJT7 1NN3 150 90  1NE-3 150 2.0 2 v QT97 3NS-1-50 210  3NN3 400 50 1
+ QT5 Dif: -40 Ns:1 2SS2 110 1.0 4 + KJ86 Dif: 140 NS:-3 1CW-3 300 30 3
& A954 IMP: -1 EW:-2 1NE-2 100 00 2 a J63 IMP: 4 EW:6 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~ 21 ¢82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~ 2 ¢ 9643 S 44~~3 ¢Q742
E ~ ~ » KT E ~~~~~ & AKT9
W ~ ~ W~~~~~
# 17 » AJ9762 2SN5200 Mean: 4SN5 450 50 3 [|#18 » T8543 ANE3 -150 Mean: 1NW3 150 2.0 6
v T85 3NS-3-150 240  4SN4 420 50 1 v QT6 1NW3 -150 -200 1NW2 120 20 1
o AKT Dif: 350 NS:-1  3NS3 400 40 1 * K2 Dif: 0 NS:2 1NE3 150 2.0 2
a7 IMP: 8 EW:9 3SN5 200 -1.0 1 » Q73 IMP: 0 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~ 6 53 ¢J964 S ~~~~~ 498764
E ~ ~ ~ ~ #8643 E 3~3~3 &AM
W ~ ~~~ W 3~3~3
#19 » Q6 4HN5 450 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS-1-100 Mean: 4HS4 620 11.0 3
v QJ8B73 4HNG 480 460  4HN6 480 10 5 v KT42 1NN-1-100 70  2NN4 180 3.0 1
o A732 Dif: -30 NS:0 4HN5 450 00 5 + K8 Dif: 0 NS:-5 3HN3 140 20 1
» 54 IMP: -1 EW:-1 5DS7 440 1.0 1 » AK43 IMP: 0 EW:5 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
®IVeN o8 POIVEON L JI73 2NN-2 200 -70 1
N ~ 6 ~2 v AT9 N ~~32~ ¢ J8765
S ~ 6 ~ 2 ¢ KQ984 S ~~32~ 40Q7
E ~ ~ 2 ~ & AK72 E ~2~~~ aJT
W~~~2~ W~2~~1




v /\ ‘; —_ R6 6
6 114&; “ErRABERE 2B =
#1: 9 BXHE(94.38) #2: 3 LT EEFE(79. 17) #3: 2 225 1w(71.83)
2 NS: F&TH HEEEGEHO) 20 11 NS: SBEIR &3E(BAC) 17 P:| 1114 : 8.86 | Total VP: 71.83 Rank:
EW: BRZE( BE2EZZEAC) -17 EW: 2R3 SIXA(BHO) -2 IMP:| 18 15 3
. N
# 11 » K98 3NN6 490 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HW-1 50 Mean: 4HW-1 50 10.0 1
v Q3 3NN6 490 430  3NN6 490 20 2 vJ 4HW4 -420 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:2 4HS5 450 10 7 ¢ KT4 Dif: 470 NS:10 3NW4 430 1.0 1
» K853 IMP: 0 EW:-2 3NN5 460 1.0 2 » AQ84 IMP: 10 EW:1  4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 4KJ9 S 2~~~~ 4J965
E ~~~~~ 49 E ~~534 a&J6532
W~~~~~ W ~~535
#13 » 3NN4 630 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 5HES5 -450 Mean: 6DW-5 250 120 1
v Q9872 3NS5660 510 3NS5 660 4.0 1 o 4HEG6 -480 -450  6HE-1 50 110 1
« KJ954 Dif: -30 NS:3  4NN4 630 3.0 1 o K74 Dif: 30 NS:0 5HE5 450 0.0 2
» A43 IMP: -1 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: 1 EW:1 4HE5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NN3 150 Mean: 1NN3 150 20 3 ||# 16 » K5 3NS4 430 Mean: 3NS4 430 6.0 2
v KJT7 INE-2100 90  1INE-3 150 2.0 2 v QT97 1CW-3300 210  3NN3 400 50 1
¢+ QTS5 Dif: 50 NS:2 2SS2 110 1.0 4 » KJ86 Dif: 130 NS:6 1CW-3 300 3.0 3
& A954 IMP: 2 EW:0 1NE-2 100 00 2 a J63 IMP: 4 EW:-3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NW3 -150 Mean: 1NW3 150 2.0 6
v T85 4SN4 420 240  4SN4 420 50 1 v QT6 1NW4 -180 -200 1NW2 120 20 1
o AKT Dif: -220 NS:-1  3NS3 400 40 1 * K2 Dif: 30 NS:2 1NE3 150 2.0 2
a7 IMP: -6 EW:-5 3SN5 200 -1.0 1 » Q73 IMP: 1 EW:-1 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 2HN5 200 Mean: 4SXW-3 800 8.0 1 ||# 20 » KQ8 3HN3 140 Mean: 4HS4 620 110 3
v QJ8B73 4HNG 480 460  4HN6 480 10 5 v KT42 2NN4 180 70  2NN4 180 3.0 1
o A732 Dif: -280 NS:-6 4HN5 450 00 5 + K8 Dif: -40 NS:2 3HN3 140 20 1
» 54 IMP: -7 EW:-1 5DS7 440 1.0 1 » AK43 IMP: -1 EW:-3 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
PIVEeN L8 PIVEN L J973 2NN-2 200 7.0 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1




v /\ ‘; —_ R6 6
6 114&; “F rABERE 2B =
#1: 9 BXHE(94.38) #2: 3 LT EEFE(79. 17) #3: 2 5% fm(71.83)
3 NS: T BECE0) 17 7 NS: Alan SIA Diana SUN(H P:| 13.43 : 6.57 | Total VP: 79.17 Rank:
EW: 8 3 EEAC) -2 EW: Radihike RYRN Sunn IMP:| 25 15 2
. s
# 11 » K98 3HS4 170 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HW4 -420 Mean: 4HW-1 50 10.0 1
v Q3 3NN5460 430 3NN6 490 20 2 vJ 4HWS5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: -290 NS:-6 4HS5 450 1.0 7 ¢ KT4 Dif: 30 NS:-1  3NwW4 430 1.0 1
» K853 IMP: -7 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 1 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
*eveN QT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 496 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4SS5 650 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 6HE-1 50 Mean: 6DW-5 250 120 1
v Q9872 4NN4 630 510 3NS5 660 4.0 1 o 5HE6 -480 -450  6HE-1 50 110 1
+ KJ954 Dif: 20 NS:4 4NN4 630 3.0 1 o K74 Dif: 530 NS:11 5HES5 450 0.0 2
» A43 IMP: 1 EW:-3 3NN4 630 3.0 2 » KQ7 IMP: 11 EW:1 4HE5 450 0.0 1
& T952 N » J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 110 Mean: 1NN3 150 20 3 ||# 16 » K5 1CW-1100 Mean: 3NS4 430 6.0 2
v KJT7 2SS2110 90  1NE-3 150 2.0 2 v QT97 1NS3 150 210  3NN3 400 50 1
¢+ QTS5 Dif: 0 NS:1  2SS2 110 1.0 4 » KJ86 Dif: -50 NS:-3 1CW-3 300 3.0 3
» A954 IMP: 0 EW:-1 1NE-2 100 00 2 a J63 IMP: -2 EW:2 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 875 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 v A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NW3 -150 Mean: 1NW3 150 2.0 6
v T85 4SN5450 240  4SN4 420 50 1 v QT6 1NE3 -150 -200 1NW2 120 20 1
+ AKT Dif: -250 NS:-1  3NS3 400 40 1 * K2 Dif: 0 NS:2 1NE3 150 2.0 2
a7 IMP: -6 EW:-5 3SN5 200 -1.0 1 » Q73 IMP: 0 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 + Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 5DS7 440 Mean: 4SXW-3 800 8.0 1 ||# 20 » KQ8 4HS4 620 Mean: 4HS4 620 110 3
v QJ873 4HN5 450 460  4HN6 480 10 5 v KT42 4HN-1-100 70  2NN4 180 30 1
¢ A732 Dif: -10 NS:-1  4HN5 450 00 5 + K8 Dif: 720 NS:11  3HN3 140 20 1
» 54 IMP: 0 EW:0 5DS7 440 10 1 » AK43 IMP: 12 EW:5 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
PIVEeN L8 PIVEN L J973 2NN-2 200 7.0 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1




St - - 2
6 114—&‘#—"\1 i‘ﬁ]’fﬁ’ﬁmﬁ'% ~BR e =>R6 6
#1: 9 BEHL(94. 38) #2: 3 JEREH(. 17) #3: 2 5% fm(71.83)
4 NS: {281k BEZ5(GHO) -14 1 4 S: Z2HE M A (BAC) 10 P:| 448 : 15.52| Total VP: 43.27 Rank:
EW: $E{EE& HEZREI0) -10 EW: 2108 $8Z5/=(FHO) 14 IMP:| 14 32 13
. I
# 11 » K98 4HS5 450 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HE5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 430  3NN6 490 20 2 vdJ 4HWS5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 10 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 0 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ 9952
S ~55~5 4KJ9 S 2~~~~ 4J965
E ~~~~~ a9 E ~~534 a&J6532
W~~~~~ W ~~535
#13 I 4SS5 650 Mean: 4SS5 650 4.0 6 ||# 14 » KQ96532 4HEG6 -480 Mean: 6DW-5 250 120 1
v Q9872 3NN4 630 510 3NS5 660 4.0 1 o 6HEG6 -980 -450  6HE-1 50 110 1
« KJ954 Dif: 20 NS:4 4NN4 630 3.0 1 o K74 Dif: 500 NS:-1 5HE5 450 0.0 2
» A43 IMP: 1 EW:-3 3NN4 630 3.0 2 » KQ7 IMP: 11 EW:11 4HES5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NE-2 100 Mean: 1NN3 150 20 3 ||# 16 » K5 2SE-2 200 Mean: 3NS4 430 6.0 2
v KJT7 INE-3150 90  1INE-3 150 2.0 2 v QT97 1NS2120 210  3NN3 400 50 1
¢+ QTS5 Dif: -50 NS:0 2SS2 110 1.0 4 » KJ86 Dif: 80 NS:0 1CW-3 300 3.0 3
& A954 IMP: -2 EW:-2 1NE-2 100 00 2 a J63 IMP: 2 EW:3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2NS2 120 Mean: 4SN5 450 50 3 [|#18 » T8543 3NE4 -430 Mean: 1NW3 150 2.0 6
v T85 3SN5200 240  4SN4 420 50 1 v QT6 1NW3 -150 -200 1NW2 120 20 1
o AKT Dif: -80 NS:-3 3NS3 400 40 1 * K2 Dif: -280 NS:-6 1NE3 150 2.0 2
a7 IMP: -2 EW:1 3SN5 200 -1.0 1 » Q73 IMP: -7 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 4HN5 450 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS-2 -200 Mean: 4HS4 620 11.0 3
v QJ8B73 4SXW-3 800 460  4HN6 480 10 5 v KT42 4HS4 620 70  2NN4 180 3.0 1
o A732 Dif: -350 NS:0 4HN5 450 00 5 + K8 Dif: -820 NS:-7 3HN3 140 20 1
» 54 IMP: -8 EW:-8 5DS7 440 1.0 1 » AK43 IMP: -13 EW:-11 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
PIVEeN L8 PIVEN L J973 2NN-2 200 -70 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1




v /\ ‘; —_ R6 6
6 114&; “F rABERE 2B =
#1: 9 BXHE(94.38) #2: 3 LT EEFE(79. 17) #3: 2 5% fm(71.83)
5 NS: FEEE fRfEEGH0) 1 13 NS: KRB L£RLZ(BIC) -4 P:{ 1114 : 8.86 | Total VP: 49.22 Rank:
EW: BE1rH 8IH7K(EAC) 4 EW: B5E8 E &K (50) 1 IMP:| 25 22 11
. s -
# 11 » K98 4HS5 450 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HWS5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 430 3NN6 49 20 2 vJ 4HE5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 1.0 7 ¢ KT4 Dif: 0 NS:-2 3Nw4 430 1.0 1
» K853 IMP: 0 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HW5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 » AJT2 4HES 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 4KJ9 S 2~~~~ 4J965
E ~~~~~ 49 E ~~534 a&J6532
W~~~~~ W ~~535
#13 » 4HN-2 -200 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 4SXN-3 -500 Mean: 6DW-5 250 120 1
v Q9872 4SS5650 510 3NS5 660 4.0 1 v 4HE6 -480 -450  GHE-1 50 110 1
+ KJ954 Dif: -850 NS:-12 4NN4 630 3.0 1 + K74 Dif: -20 NS:-2 5HES 450 0.0 2
» A43 IMP: -13 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: -1 EW:1 4HE5 450 0.0 1
» T952 N » J73 3NN3 600 30 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 110 Mean: 1NN3 150 20 3 ||# 16 » K5 1CW-3 300 Mean: 3NS4 430 6.0 2
v KJT7 1NN3 150 90  1NE-3 150 20 2 v QT97 2NS3 150 210  3NN3 400 50 1
¢+ QTS5 Dif: -40 NS:1 2SS2 110 1.0 4 » KJ86 Dif: 150 NS:3 1CW-3 300 3.0 3
» A954 IMP: -1 EW:-2 1NE-2 100 00 2 » J63 IMP: 4 EW:2 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 25S-1 100 50 1 ||v KJ54 _— v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 ¢ A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
#17 » AJ9762 4SN5 450 Mean: 4SN5 450 50 3 [|#18 » T8543 3NE3 -400 Mean: 1NW3 150 2.0 6
v T85 2NS2 120 240  4SN4 420 50 1 v QT6 1NW2 -120 -200 1NW2 120 20 1
+ AKT Dif: 330 NS:5 3NS3 400 40 1 + K2 Dif: -280 NS:-5 1NE3 4150 2.0 2
a7 IMP: 8 EW:3 3SN5 200 -1.0 1 » Q73 IMP: -7 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 + Q5 3NS-3 150 90 1 ||e QJT5 * A3 3NE4 430 6.0 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 4HNG6 480 Mean: 4SXW-3 800 8.0 1 ||# 20 » KQ8 4HS4 620 Mean: 4HS4 620 110 3
v QJ873 4HN5 450 460  4HN6 480 10 5 v KT42 4HS-1-100 70  2NN4 180 30 1
¢ A732 Dif: 30 NS:1  4HNS5 450 00 5 + K8 Dif: 720 NS:11  3HN3 140 20 1
a 54 IMP: 1 EW:0 5DS7 440 10 1 » AK43 IMP: 12 EW:5 4HS-1 100 50 3
# AT952 » KJ743 5DS5 400 20 1 ||aT6 # A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1]||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
®eveN o3 PIVEeN L, J973 2NN-2 200 7.0 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1
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EW: S BEEREEAC) -11 EW: 28X 38 MigF(5H0) 14 IMP:| 3 24 4
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# 11 » K98 4HS5 450 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HWS5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 430  3NN6 49 20 2 vJ 4HE5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 1.0 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 0 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 4KJ9 S 2~~~~ 4J965
E ~~~~~ 49 E ~~534 a&J6532
W~~~~~ W ~~535
#13 I 4SS5 650 Mean: 4SS5 650 4.0 6 ||# 14 » KQ96532 4HE6 -480 Mean: 6DW-5 250 120 1
v Q9872 3NN3 600 510 3NS5 660 4.0 1 o 5HE5 -450 -450  6HE-1 50 110 1
+ KJ954 Dif: 50 NS:4 4NN4 630 3.0 1 + K74 Dif: -30 NS:-1 5HE5 450 0.0 2
» A43 IMP: 2 EW:-3 3NN4 630 3.0 2 » KQ7 IMP: -1 EW:0 4HE5 450 0.0 1
& T952 N » J73 3NN3 600 30 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS-1-100 Mean: 1NN3 150 20 3 ||# 16 » K5 1NS2 120 Mean: 3NS4 430 6.0 2
v KJT7 INE-3150 90  1INE-3 150 2.0 2 v QT97 3NS4430 210 3NN3 400 50 1
+ QT5 Dif: -250 NS:-5 2SS2 10 1.0 4 + KJ86 Dif: -310 NS:-3 1CW-3 300 30 3
» A954 IMP: -6 EW:-2 1NE-2 100 00 2 » J63 IMP: -7 EW:-6 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 ¢ A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5 200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NE2 -120 Mean: 1NW3 150 2.0 6
v T85 3NS3 400 240 4SN4 420 50 1 v QT6 1NW3 -150 -200 1NW2 120 20 1
+ AKT Dif: 200 NS:-1  3NS3 400 40 1 + K2 Dif: 30 NS:2 1NE3 4150 2.0 2
a7 IMP: -5 EW:-4 3SN5 200 -1.0 1 » Q73 IMP: 1 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 -3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 6.0 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ 9 KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 5DS5400 Mean: 4SXW-3 800 8.0 1 ||# 20 » KQ8 2NN-2 -200 Mean: 4HS4 620 110 3
v QJ8B73 4HN5 450 460  4HN6 480 10 5 v KT42 4HS-1-100 70  2NN4 180 30 1
¢ A732 Dif: -50 NS:-2 4HN5 450 00 5 + K8 Dif: -100 NS:-7 3HN3 140 20 1
» 54 IMP: -2 EW:0 5DS7 440 10 1 » AK43 IMP: -3 EW:5 4HS-1 100 50 3
# AT952 » KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
®eveN o3 POIVEON L JI73 2NN-2 200 -70 1
N ~66~2 ¢vAT9 N ~~32~ ¢ J8765
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# 11 » K98 3HS4 -170 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HW4 420 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 430  3NN6 490 20 2 vJ 4HW5 450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 290 NS:1  4HS5 450 10 7 ¢ KT4 Dif: -30 NS:-2 3NW4 430 1.0 1
» K853 IMP: 7 EW:6 3NN5 460 1.0 2 » AQ84 IMP: -1 EW:1 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®IVeN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 496 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 4SS5 -650 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 6HE-1 -50 Mean: 6DW-5 250 120 1
v Q9872 4NN4 -630 510 3NS5 660 4.0 1 o 5HE6 480 -450  6HE-1 50 110 1
« KJ954 Dif: 20 NS:3  4NN4 630 3.0 1 o K74 Dif: -530 NS:-1 5HES5 450 0.0 2
» A43 IMP: -1 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: -11 EW:-11 4HES5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 -110 Mean: 1NN3 150 20 3 ||# 16 » K5 1CW-1-100 Mean: 3NS4 430 6.0 2
v KJT7 2SS2-110 90  1INE-3 150 2.0 2 v QT97 1NS3 -150 210  3NN3 400 50 1
¢+ QTS5 Dif: 0 NS:1  2SS2 110 1.0 4 » KJ86 Dif: 50 NS:-2 1CW-3 300 3.0 3
& A954 IMP: 0 EW:-1 1NE-2 100 00 2 a J63 IMP: 2 EW:3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5 -200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NW3 150 Mean: 1NW3 150 2.0 6
v T85 4SN5 -450 240  4SN4 420 50 1 v QT6 1NE3 150 -200 1NW2 120 20 1
o AKT Dif: 250 NS:5 3NS3 400 40 1 * K2 Dif: 0 NS:2 1NE3 150 2.0 2
a7 IMP: 6 EW:1 3SN5 200 -1.0 1 » Q73 IMP: 0 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 5DS7 -440 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS4 -620 Mean: 4HS4 620 11.0 3
v QJ8B73 4HN5 -450 460  4HN6 480 10 5 v KT42 4HN-1100 70  2NN4 180 3.0 1
o A732 Dif: 10 NS:0 4HN5 450 00 5 + K8 Dif: -720 NS:-5 3HN3 140 20 1
» 54 IMP: 0 EW:1 5DS7 440 1.0 1 » AK43 IMP: -12 EW:-11 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
PIVEeN L8 PIVEN L J973 2NN-2 200 7.0 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1
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# 11 » K98 4HS4 420 Mean: 4HS6 480 20 1 [[|# 12 & K9874 3NW4 -430 Mean: 4HW-1 50 10.0 1
v Q3 3NN5460 430  3NN6 49 20 2 vJ 4HW4 -420 -400  4HW4 420 1.0 3
+ AQ64 Dif: -40 NS:0 4HS5 450 1.0 7 ¢ KT4 Dif: -10 NS:-1  3NW4 430 1.0 1
» K853 IMP: -1 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:1 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 896 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 I 4SS5 650 Mean: 4SS5 650 4.0 6 ||# 14 » KQ96532 4HES5 -450 Mean: 6DW-5 250 120 1
v Q9872 6HN-3 -300 510 3NS5 660 4.0 1 o 6DW-5 250 -450  6HE-1 50 110 1
+ KJ954 Dif: 950 NS:4 4NN4 630 3.0 1 o K74 Dif: -700 NS:0 5HES5 450 0.0 2
» A43 IMP: 14 EW:13 3NN4 630 3.0 2 » KQ7 IMP: -12 EW:-12 4HE5 450 0.0 1
& T952 N » J73 3NN3 600 30 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NE-1 50 Mean: 1NN3 150 20 3 ||# 16 » K5 3NN3 400 Mean: 3NS4 430 6.0 2
v KJT7 INE-150 90  1NE-3 150 2.0 2 v QT97 1CW-3300 210  3NN3 400 50 1
¢+ QTS5 Dif: 0 NS:-1 2SS2 110 1.0 4 » KJ86 Dif: 100 NS:5 1CW-3 300 3.0 3
» A954 IMP: 0 EW:1 1NE-2 100 00 2 » J63 IMP: 3 EW:-3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 v A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4SN5 450 Mean: 4SN5 450 50 3 [|#18 » T8543 3NE3 -400 Mean: 1NW3 150 2.0 6
v T85 2SN5200 240 4SN4 420 50 1 v QT6 1NW3 -150 -200 1NW2 120 20 1
+ AKT Dif: 250 NS:5 3NS3 400 40 1 * K2 Dif: -250 NS:-5 1NE3 4150 2.0 2
a7 IMP: 6 EW:1 3SN5 200 -1.0 1 » Q73 IMP: -6 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W ~~~~~ W 3~3~3
#19 » Q6 4HNG6 480 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 1NN-1 -100 Mean: 4HS4 620 11.0 3
v QJ873 4HNG 480 460  4HN6 480 10 5 v KT42 3NN-2-200 70  2NN4 180 30 1
¢ A732 Dif: 0 NS:1 4HN5 450 00 5 + K8 Dif: 100 NS:-5 3HN3 140 20 1
» 54 IMP: 0 EW:-1 5DS7 440 10 1 » AK43 IMP: 3 EW:7 4HS-1 100 50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
PIVEeN L8 PIVEN L J973 2NN-2 200 7.0 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1
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EW: 20 X 38 HREEFEEHO) 14 EW: il FRIERZ(BAC) -11 IMP:| 24 : 3 1
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# 11 » K98 4HS5 -450 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HW5 450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5 -450 430  3NN6 490 20 2 vdJ 4HE5 450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 10 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 0 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
®*eveN LQT ®IVeN o6
N ~55~5 ¢AJT974 N 2~~~~ 9952
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E ~~~~~ a9 E ~~534 a&J6532
W~~~~~ W ~~535
#13 I 4SS5 -650 Mean: 4SS5 650 4.0 6 ||# 14 » KQ96532 4HEG6 480 Mean: 6DW-5 250 120 1
v Q9872 3NN3 -600 510 3NS5 660 4.0 1 o 5HE5 450 -450  6HE-1 50 110 1
« KJ954 Dif: -50 NS:3  4NN4 630 3.0 1 o K74 Dif: 30 NS:0 5HE5 450 0.0 2
» A43 IMP: -2 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: 1 EW:1 4HE5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS-1 100 Mean: 1NN3 150 20 3 ||# 16 » K5 1NS2 -120 Mean: 3NS4 430 6.0 2
v KJT7 INE-3-150 90  1NE-3 150 2.0 2 v QT97 3NS4-430 210  3NN3 400 50 1
¢+ QTS5 Dif: 250 NS:2 2SS2 110 1.0 4 » KJ86 Dif: 310 NS:6 1CW-3 300 3.0 3
& A954 IMP: 6 EW:5 1NE-2 100 00 2 a J63 IMP: 7 EW:3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 875 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5 -200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NE2 120 Mean: 1NW3 150 2.0 6
v T85 3NS3 -400 240  4SN4 420 50 1 v QT6 1NW3 150 -200 1NW2 120 20 1
o AKT Dif: 200 NS:4 3NS3 400 40 1 * K2 Dif: -30 NS:2 1NE3 150 2.0 2
a7 IMP: 5 EW:1 3SN5 200 -1.0 1 » Q73 IMP: -1 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
# 19 » Q6 5DS5 -400 Mean: 4SXW-3 800 80 1 ||# 20 » KQ8 2NN-2 200 Mean: 4HS4 620 11.0 3
v QJ8B73 4HN5 -450 460  4HN6 480 10 5 v KT42 4HS-1100 70  2NN4 180 3.0 1
¢ A732 Dif: 50 NS:0 4HN5 450 00 5 * K8 Dif: 100 NS:-5 3HN3 140 20 1
» 54 IMP: 2 EW:2 5DS7 440 1.0 1 » AK43 IMP: 3 EW:7 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
PIVEeN L8 PIVEN L J973 2NN-2 200 -70 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1
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# 11 » K98 4HS4 -420 Mean: 4HS6 480 20 1 [[|# 12 & K9874 3NW4 430 Mean: 4HW-1 50 10.0 1
v Q3 3NN5 -460 430  3NN6 490 20 2 vdJ 4HW4 420 -400  4HW4 420 1.0 3
+ AQ64 Dif: 40 NS:1 4HS5 450 10 7 ¢ KT4 Dif: 10 NS:-1  3NwW4 430 1.0 1
» K853 IMP: 1 EW:0 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:1 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
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N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 ¢KJ9 S 2~~~ ~ 4 J965
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W ~~~~~ W ~~535
#13 I 4SS5 -650 Mean: 4SS5 650 4.0 6 ||# 14 » KQ96532 4HE5 450 Mean: 6DW-5 250 120 1
v Q9872 6HN-3 300 510 3NS5 660 4.0 1 o 6DW-5 -250 -450  6HE-1 50 110 1
« KJ954 Dif: -950 NS:-13 4NN4 630 3.0 1 o K74 Dif: 700 NS:12 5HES5 450 0.0 2
» A43 IMP: -14 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: 12 EW:0 4HES5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 ANE-1-50 Mean: 1NN3 150 20 3 ||# 16 » K5 3NN3 -400 Mean: 3NS4 430 6.0 2
v KJT7 INE-1-50 90  1NE-3 150 2.0 2 v QT97 1CW-3-300 210  3NN3 400 50 1
¢+ QTS5 Dif: 0 NS:-1 2SS2 110 1.0 4 » KJ86 Dif: -100 NS:3 1CW-3 300 3.0 3
& A954 IMP: 0 EW:1 1NE-2 100 00 2 a J63 IMP: -3 EW:-5 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 875 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4SN5 -450 Mean: 4SN5 450 50 3 [|#18 » T8543 3NE3 400 Mean: 1NW3 150 2.0 6
v T85 2SN5-200 240  4SN4 420 50 1 v QT6 1NW3 150 -200 1NW2 120 20 1
o AKT Dif: -250 NS:-1  3NS3 400 40 1 * K2 Dif: 250 NS:2 1NE3 150 2.0 2
a7 IMP: -6 EW:-5 3SN5 200 -1.0 1 » Q73 IMP: 6 EW:5 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 4HNG6 -480 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 1NN-1 100 Mean: 4HS4 620 11.0 3
v QJ8B73 4HNG -480 460  4HN6 480 10 5 v KT42 3NN-2200 70  2NN4 180 3.0 1
¢ A732 Dif: 0 NS:1 4HN5 450 00 5 * K8 Dif: -100 NS:-7 3HN3 140 20 1
» 54 IMP: 0 EW:-1 5DS7 440 1.0 1 » AK43 IMP: -3 EW:5 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
PIVEeN L8 PIVEN L J973 2NN-2 200 -70 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
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# 11 » K98 3NNG6 -490 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HW-1 -50 Mean: 4HW-1 50 10.0 1
v Q3 3NN6 -490 430  3NN6 49 20 2 vJ 4HW4 420 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:2 4HS5 450 1.0 7 ¢ KT4 Dif: -470 NS:-1  3NW4 430 1.0 1
» K853 IMP: 0 EW:-2 3NN5 460 1.0 2 » AQ84 IMP: -10 EW:-10 4HW5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
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N ~55~5 ¢AJT974 N 2~~~~ ¢952
S ~55~5 4KJ9 S 2~~~ ~ 4 J965
E ~~~~~ 496 E ~~534 aJ6532
W ~~~~~ W ~~535
#13 » 3NN4 -630 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 5HE5 450 Mean: 6DW-5 250 120 1
v Q9872 3NS5 -660 510 3NS5 660 4.0 1 o 4HE6 480 -450  6HE-1 50 110 1
+ KJ954 Dif: 30 NS:4 4NN4 630 3.0 1 + K74 Dif: -30 NS:-1 5HE5 450 0.0 2
» A43 IMP: 1 EW:-3 3NN4 630 3.0 2 » KQ7 IMP: -1 EW:0 4HE5 450 0.0 1
& T952 N » J73 3NN3 600 30 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 1NN3 -150 Mean: 1NN3 150 20 3 ||# 16 » K5 3NS4 -430 Mean: 3NS4 430 6.0 2
v KJT7 INE-2-100 90  1NE-3 150 2.0 2 v QT97 1CW-3-300 210  3NN3 400 50 1
+ QT5 Dif: -50 NS:0 2SS2 10 1.0 4 + KJ86 Dif: -130 NS:3 1CW-3 300 30 3
» A954 IMP: -2 EW:-2 1NE-2 100 00 2 » J63 IMP: -4 EW:-6 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 875 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 ¢ A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
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W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5 -200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NW3 150 Mean: 1NW3 150 2.0 6
v T85 4SN4 -420 240  4SN4 420 50 1 v QT6 1NW4 180 -200 1NW2 120 20 1
+ AKT Dif: 220 NS:5 3NS3 400 40 1 + K2 Dif: -30 NS:1 1NE3 4150 2.0 2
a7 IMP: 6 EW:1 3SN5 200 -1.0 1 » Q73 IMP: -1 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 I v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 6.0 1
& KQ52 & AJT9 & K65 & T982
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#19 » Q6 2HN5 -200 Mean: 4SXW-3 800 8.0 1 ||# 20 » KQ8 3HN3 -140 Mean: 4HS4 620 110 3
v QJ8B73 4HNG -480 460  4HN6 480 10 5 v KT42 2NN4 -180 70  2NN4 180 30 1
¢ A732 Dif: 280 NS:1  4HN5 450 00 5 + K8 Dif: 40 NS:3 3HN3 140 20 1
» 54 IMP: 7 EW:6 5DS7 440 10 1 » AK43 IMP: 1 EW:-2 4HS-1 100 50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
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# 11 » K98 4HS6 -480 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HE5 450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5 -450 430 3NN6 490 20 2 v 4HWS5 450 -400  4HW4 420 1.0 3
+ AQ64 Dif: -30 NS:1 4HS5 450 10 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: -1 EW:-2 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
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E ~~~~~ 49 E ~~534 a&J6532
W~~~~~ W ~~535
#13 » 3NN3 -600 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 6HE6 980 Mean: 6DW-5 250 120 1
v Q9872 4SS5 -650 510 3NS5 660 4.0 1 o 5HWG6 480 -450  6HE-1 50 110 1
« KJ954 Dif: 50 NS:4 4NN4 630 3.0 1 o K74 Dif: 500 NS:-1 5HE5 450 0.0 2
» A43 IMP: 2 EW:-3 3NN4 630 3.0 2 » KQ7 IMP: 11 EW:11 4HES5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
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E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 -110 Mean: 1NN3 150 20 3 ||# 16 » K5 1NS1-90 Mean: 3NS4 430 6.0 2
v KJT7 1NN3 -150 90  1NE-3 150 2.0 2 v QT97 3NS-150 210 3NN3 400 50 1
+ QT5 Dif: 40 Ns:2 2ss2 110 1.0 4 + KJ86 Dif: -140 NS:-6 1CW-3 300 30 3
& A954 IMP: 1 EW:-1 1NE-2 100 00 2 a J63 IMP: -4 EW:3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 2SN5 -200 Mean: 4SN5 450 50 3 [|#18 » T8543 1NE3 150 Mean: 1NW3 150 2.0 6
v T85 3NS-3150 240  4SN4 420 50 1 v QT6 1NW3 150 -200 1NW2 120 20 1
o AKT Dif: -350 NS:-9 3NS3 400 40 1 * K2 Dif: 0 NS:2 1NE3 150 2.0 2
a7 IMP: -8 EW:1 3SN5 200 -1.0 1 » Q73 IMP: 0 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 4HNS5 -450 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS-1 100 Mean: 4HS4 620 11.0 3
v QJ8B73 4HNG -480 460  4HN6 480 10 5 v KT42 1NN-1100 70  2NN4 180 3.0 1
o A732 Dif: 30 NS:1  4HN5 450 00 5 + K8 Dif: 0 NS:-5 3HN3 140 20 1
» 54 IMP: 1 EW:0 5DS7 440 1.0 1 » AK43 IMP: 0 EW:5 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
PIVEeN L8 PIVEN L J973 2NN-2 200 -70 1
N ~66 ~2 ¢AT9 N ~~32~ ¢ J8765
S ~66 ~2 ¢ KQ94 S ~~32~ 40Q7
E ~~~ 2~ aAK72 E ~2~~~ aJT
W~~~2~ W~2~~1
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v Q3 4HS5 -450 430  3NN6 49 20 2 vJ 4HE5 450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 1.0 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 0 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
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+ KJ954 Dif: 850 NS:4 4NN4 630 3.0 1 o K74 Dif: 20 NS:-1 5HE5 450 0.0 2
» A43 IMP: 13 EW:12 3NN4 630 3.0 2 » KQ7 IMP: 1 EW:2 4HE5 450 0.0 1
& T952 N » J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQT72 + * 863 6HN3 300 130 1 ||e AQJ9E2 * 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
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E ~~~~~ &aQJ975 E 5~6~5 832
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v KJT7 1NN3 -150 90  1NE-3 150 2.0 2 v QT97 2NS3 -150 210  3NN3 400 50 1
+ QT5 Dif: 40 Ns:2 2ss2 10 1.0 4 + KJ86 Dif: -150 NS:-2 1CW-3 300 30 3
» A954 IMP: 1 EW:-1 1NE-2 100 00 2 a J63 IMP: -4 EW:-3 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~2~21 ¢82 N 44~~3 v A6 3NS-1 50  -6.0 1
S ~2~21 9643 S 44~~3 ¢Q742
E ~~~~~ aKT E ~~~~~ & AKT9
W ~~~~~ W ~~~~~
# 17 » AJ9762 4SN5 -450 Mean: 4SN5 450 50 3 [|#18 » T8543 3NE3 400 Mean: 1NW3 150 2.0 6
v T85 2NS2-120 240  4SN4 420 50 1 v QT6 1NW2 120 -200 1NW2 120 20 1
o AKT Dif: -330 NS:-3 3NS3 400 40 1 * K2 Dif: 280 NS:2 1NE3 150 2.0 2
a7 IMP: -8 EW:-5 3SN5 200 -1.0 1 » Q73 IMP: 7 EW:5 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~5653 ¢J94 S ~~~~~ 498764
E ~~~~~ 48643 E 3~3~3 &AM
W~~~~~ W 3~3~3
#19 » Q6 4HNG6 -480 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS4 -620 Mean: 4HS4 620 11.0 3
v QJ8B73 4HN5 -450 460  4HN6 480 10 5 v KT42 4HS-1100 70  2NN4 180 3.0 1
¢ A732 Dif: -30 NS:0 4HN5 450 00 5 + K8 Dif: -720 NS:-5 3HN3 140 20 1
» 54 IMP: -1 EW:-1 5DS7 440 10 1 » AK43 IMP: -12 EW:-11 4HS-1 100 50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 7.0 1
®eveN o3 POIVEON L JI73 2NN-2 200 -70 1
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v Q3 4HS5 -450 430  3NN6 49 20 2 vJ 4HW5 450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 0 NS:1 4HS5 450 1.0 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
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